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7) What is the product of thermal cracking for the following compound: 

  

a) C2H4                                         b) C3H8                
c) C3H7                                         d) C3H6 

8) Study the following table: 

           Acid HU HW HY HX 

Ionization degree 2.8% 5.9% 13.4% 9.2% 

 

      :KLFK�DFLG�KDV�WKH�KLJKHVW�FRQGXFWLYLW\««� 

         a) HU                        b) HW                          c) HY                                 d) HX 
 

9) Which analytical group can be precipitated ���acidic Hydrogen sulphide. 

a) The third analytical group 

b) The second analytical group 

c) The fifth analytical group 

d) The first analytical group 

10) What is the IUPAC name of the following formula of a halogenated 
alkane«««« 

     a) 3,3-Bromo-1-Chloropropane 

     b) 1,1-Dibromo-3-chloropropane  

     c)  1,1-Bromo-3-chloropropane  

     d)  3,3-Dibromo-1-chloropropane  
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28) Which of the following choices suitable to prepare the following compound:  

a) Chlorination of benzene then Sulphonation     

b) Sulphonation of Chlorobenzene 

c) Chlorination of benzene sulphonic acid 

d) No suitable answer 

29) Calculate the Pressure of Nitrogen for the following equilibrium:     

N2(g) +  3H2(g) ļ���1+3(g)  [Kp=25x10-5] 

Giving: pressure of Hydrogen and Ammonia are 6.8 and 0.4 atm.  

          a) 10 atm                b) 20 atm                   c) 30 atm                      d) 40 atm 

30) Which of the following pairs used WR�GHWHFW�/HDG�DFHWDWH�«««� 

         a) S2- and PO4
-3                b) Fe2+ and SO4

-2                

        c) S2- and SO4
-2                        d) NO2

1- and Cl -1           

31) In which of the following compounds the oxidation number of Iron not 

changed when heated in air: 

           a) Iron II oxalate                               b) Iron II sulphate 

           c) Siderite.                                         d) Limonite 

 

32) Study the figure below that show the activation energy before and after using 

Transition element as catalyst, what's the value of activation energy after using 

catalyst. 

       a) 130 kJ                  b) 30 KJ                    c) 50 kJ                  d) 70 kJ 
 








